	Quartile

Depth=
	[
	(Target Concentration-Upper Cum. Conc.)
	X
	(Lower depth-Upper Depth)
	]
	+
	Upper Depth

	
	
	(Lower Cum. Conc.-Upper Cum. Conc.)
	
	
	
	
	


EXAMPLE

	25% quartile depth=
	[
	(1.73-1.05)
	X
	(7-4)
	]
	+
	4

	
	
	(3.3-1.05)
	
	
	
	
	


	Depth m
	Daphnia /L
	cumulative

	1
	0.67
	0.67

	4
	0.38
	1.05

	7
	2.25
	3.30

	10
	0.63
	3.92

	13
	0.63
	4.55

	16
	0.38
	4.92

	19
	0.63
	5.55

	22
	1.38
	6.92

	
	
	

	Quartile x
	Cumalutive=
	Target Concentration
	Target Concentration is:

	25% X
	6.92=
	1.73
	Between 4-7

	
	
	
	


